In this week, I still focused on implementing the Ptrace considering spatial correlation. For the power variation part, the leakage power is computed as:
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Where the coefficients k1 k2 and k3 are collected from SPICE simulation. We already have such coefficients from the ICCAD paper this year. But the delay model for this paper is different, the delay is computed as:
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We no longer compute the convolution of PDF of each circuit element. c1 and c2 are collected from SPICE simulation. We don’t have such data in the previous paper. I write a matlab program to do the linear fitting for the SPICE simulation result and compute the coefficients. The following table shows c1 for an LUT under different device settings:

	　
	0.2
	0.25
	0.3
	0.35
	0.4

	0.8
	0.0219
	0.0321
	0.0444
	0.0935
	0.322

	0.9
	0.0181
	0.0245
	0.0333
	0.0465
	0.1867

	1
	0.0162
	0.0204
	0.0263
	0.0357
	0.0506

	1.1
	0.0147
	0.0179
	0.0222
	0.0284
	0.037


Table 1 C1 for an LUT. Unit is (s/m). 
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